



On Sums of Squares Involving Integer Sequence:

$$\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3\left(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2\right)$$

Lao Hussein Mude ^{a*}, Kinyanjui Jeremiah Ndung'u ^a
and Zachary Kaunda Kayiita ^a

^aDepartment of Pure and Applied Sciences, Kirinyaga University, P. O. Box 143-10300, Kerugoya, Kenya.

Authors' contributions

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

Article Information

DOI: <https://doi.org/10.9734/jamcs/2024/v39i71906>

Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: <https://www.sdiarticle5.com/review-history/118505>

Received: 07/04/2024

Accepted: 12/06/2024

Published: 18/06/2024

Original Research Article

Abstract

Let w_r be a given integer sequence in arithmetic progression with a common difference d . The study of diophantine equations, which are polynomial equations seeking integer solutions, has been a very interesting journey in the field of number theory. Historically, these equations have attracted the attention of many mathematicians due to their intrinsic challenges and their significance in understanding the properties of integers. In this current study, we examine a diophantine equation relating the sum of squared integers from

*Corresponding author: E-mail: hlao@kyu.ac.ke, huseinlao@gmail.com;

Cite as: Mude, Lao Hussein, Kinyanjui Jeremiah Ndung'u, and Zachary Kaunda Kayiita. 2024. "On Sums of Squares Involving Integer Sequence: $\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3\left(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2\right)$ ". *Journal of Advances in Mathematics and Computer Science* 39 (7):1-6. <https://doi.org/10.9734/jamcs/2024/v39i71906>

specific sequences to a variable d . In particular, the diophantine equation $\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2)$ is introduced and partially characterized. The objective is to determine the conditions under which integer solutions for (w_r, d) exist within this diophantine equation. The methodology of solving this problem entails, decomposing polynomials, factorizing polynomials, and exploring the solution set of the given equation.

Keywords: Diophantine equation; sums of squares, integer sequence.

2010 Mathematics Subject Classification: 53C25; 83C05; 57N16.

1 Introduction

Diophantine equations, tracing their roots back to the era of the ancient Greek mathematician Diophantus, continue to be a captivating challenge within number theory. These equations, seeking integer solutions, hold significant importance due to their real-life applications. Despite the extensive exploration of various Diophantine equations, including renowned challenges like Fermat's Last Theorem, Ramanujan Nagell equation, and Lebesgue Nagell equation, as well as studies focusing on polynomials of degree less than 5, the specific examination of the diophantine equation $\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2)$ remains largely uncharted. Recent research has delved into the intricacies of polynomials with degrees less than 5, as referenced in [1, 2,3,4,5,6]. For a comprehensive understanding of studies related to Fermat's Last Theorem and Ramanujan Nagell equations, readers are encouraged to explore [7,8,9,10,11,12,13,14,15,16]. Within the existing body of work, the literature concerning the diophantine equation $\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2)$ remains largely unexplored. This study aims to contribute to this knowledge gap by introducing and developing the formula $\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2)$, seeking to enhance our comprehension of this specific diophantine equation within the broader landscape of mathematical exploration.

2 Main Results

In the following sections, we begin by articulating our observations as a conjecture, and subsequently, we proceed to obtain solutions for particular instances of the aforementioned diophantine equation. For any integer n divisible by 3, the diophantine equation.

$$\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3\left(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2\right) \cdots (1)$$

admits solutions in integers if $w_n - w_{n-1} = w_{n-1} - w_{n-2} = \cdots = w_2 - w_1 = d$

In the subsequent sections, the focus of this investigation revolves around identifying the values of the variables $(n, w_1, w_2, \cdots, w_n, d)$ that fulfill the conditions of equation (1). Consequently, distinct cases have been established.

Theorem 2.1. Consider equation (1) satisfying the condition $(n, w_1, w_2, w_3, d) = (3, w_1, w_2, w_3, d)$ Then, the diophantine equation.

$$w_1^2 + w_2^2 + w_3^2 + d^2 = 3(d^2 + w_2^2)$$

has solution in integers if $w_3 - w_2 = w_2 - w_1 = d$.

Proof. Assume that $w_2 = w_1 + d, w_3 = w_1 + 2d, w_3 = w_1 + 2d$ and Consider the equation $w_1^2 + w_2^2 + w_3^2 + d^2 = 3(d^2 + w_2^2) \cdots (2.1)$. The, left hand side of equation (2.1) expressed as

$$w_1^2 + w_2^2 + w_3^2 + d^2 = w_1^2 + (w_1 + d)^2 + (w_1 + 2d)^2 + d^2$$

simplifies to

$$3w_1^2 + 6w_1d + 6d^2 = 3(w_1^2 + 2w_1d + 2d^2) \cdots (2.1.1).$$

Decomposing equation (2.1.1) into thrice sums of two squares, we obtain,

$$3w_1^2 + 6w_1d + 6d^2 = 3(w_1^2 + 2w_1d + 2d^2)$$

$$= 3((w_1^2 + 2w_1d + d^2) + d^2) = 3(d^2 + (w_1 + d)^2) = 3(d^2 + w_2^2).$$

This complete the proof. □

Theorem 2.2. Consider equation (1) satisfying the condition $(n, w_1, w_2, \dots, w_6, 2d) = (6, w_1, w_2, \dots, w_6, 2d)$. Then, the diophantine equation

$$w_1^2 + w_2^2 + w_3^2 + w_4^2 + w_5^2 + w_6^2 + 2d^2 = 3(2d^2 + w_2^2 + w_5^2)$$

has solution in integers if $w_6 - w_5 = w_5 - w_4 = w_4 - w_3 = w_3 - w_2 = w_2 - w_1 = d$.

Proof. Let $w_2 = w_1 + d, w_3 = w_1 + 2d, w_3 = w_1 + 2d, w_4 = w_1 + 3d, w_5 = w_1 + 4d, w_6 = w_1 + 5d$ and Consider the equation $w_1^2 + w_2^2 + w_3^2 + w_4^2 + w_5^2 + w_6^2 + 2d^2 = 3(2d^2 + w_2^2 + w_5^2) \cdots (2.2)$. The, left hand side written as

$$w_1^2 + (w_1 + d)^2 + (w_1 + 2d)^2 + (w_1 + 3d)^2 + (w_1 + 4d)^2 + (w_1 + 5d)^2 + (w_1 + 6d)^2 + 2d^2$$

reduces to

$$6w_1^2 + 30w_1d + 57d^2 = 3(w_1^2 + 10w_1d + 19d^2) = 3(2d^2 + w_1^2 + 10w_1d + 17d^2) \cdots (2.2.1).$$

Breaking equation (2.2.1) into thrice sums of sums of four squares, we get,

$$\begin{aligned} 3(2d^2 + w_1^2 + 10w_1d + 17d^2) &= 3(2d^2 + (w_1^2 + 2w_1d + d^2) + (w_1^2 + 8w_1d + 16d^2)) \\ &= 3(2d^2 + (w_1 + d)^2 + (w_1 + 4d)^2) = 3(2d^2 + w_2^2 + w_5^2) \end{aligned}$$

This concludes the proof. □

Theorem 2.3. Consider equation (1) satisfying the condition

$$(n, w_1, w_2, w_3, w_4, w_5, w_6, w_7, w_8, w_9, 3d) = (9, w_1, w_2, w_3, w_4, w_5, w_6, w_7, w_8, w_9, 3d).$$

Then, the diophantine equation

$$w_1^2 + w_2^2 + w_3^2 + w_4^2 + w_5^2 + w_6^2 + w_7^2 + w_8^2 + w_9^2 + 3d^2 = 3(3d^2 + w_2^2 + w_5^2 + w_8^2)$$

has solution in integers if $w_9 - w_8 = w_8 - w_7 = w_7 - w_6 = w_6 - w_5 = w_5 - w_4 = w_4 - w_3 = w_3 - w_2 = w_2 - w_1 = d$.

Proof. Consider the equation $w_1^2 + w_2^2 + w_3^2 + w_4^2 + w_5^2 + w_6^2 + w_7^2 + w_8^2 + w_9^2 + 3d^2 = 3(3d^2 + w_2^2 + w_5^2 + w_8^2)$. Assume that $w_2 = w_1 + d, w_3 = w_1 + 2d, w_3 = w_1 + 2d, w_4 = w_1 + 3d, w_5 = w_1 + 4d, w_6 = w_1 + 5d, w_7 = w_1 + 6d, w_8 = w_1 + 7d, w_9 = w_1 + 8d$. The, left hand side expressed as,

$$w_1^2 + (w_1 + d)^2 + (w_1 + 2d)^2 + (w_1 + 3d)^2 + (w_1 + 4d)^2 + (w_1 + 5d)^2 + (w_1 + 6d)^2 + (w_1 + 7d)^2 + (w_1 + 8d)^2 + 3d^2$$

simplifies to

$$9w_1^2 + 72w_1d + 207d^2 = 3(3w_1^2 + 24w_1d + 69d^2) \cdots (2.3).$$

Decomposing equation (2.3) into triple sums of squares, we obtain,

$$\begin{aligned} &= 3(3d^2 + (w_1^2 + 2w_1d + d^2) + (w_1^2 + 8w_1d + 16d^2) + (w_1^2 + 14w_1d + 49d^2)) \\ &= 3(3d^2 + (w_1 + d)^2 + (w_1 + 2d)^2) + (w_1 + 4d)^2 + (w_1 + 7d)^2 = 3(3d^2 + w_2^2 + w_5^2 + w_8^2) \end{aligned}$$

This complete the proof. □

Theorem 2.4. Consider equation (1) satisfying the condition $(n, w_1, w_2, \dots, w_{12}, 4d) = (12, w_1, w_2, \dots, w_{12}, 4d)$. Then, the diophantine equation

$$w_1^2 + w_2^2 + w_3^2 + w_4^2 + w_5^2 + w_6^2 + w_7^2 + w_8^2 + w_9^2 + w_{10}^2 + w_{11}^2 + w_{12}^2 + 4d^2 = 3(4d^2 + w_2^2 + w_5^2 + w_8^2 + w_{11}^2)$$

has solution in integers if $w_{12} - w_{11} = w_{11} - w_{10} = w_{10} - w_9 = w_9 - w_8 = w_8 - w_7 = w_7 - w_6 = w_6 - w_5 = w_5 - w_4 = w_4 - w_3 = w_3 - w_2 = w_2 - w_1 = d$.

Proof. Consider the equation,

$$w_1^2 + w_2^2 + w_3^2 + w_4^2 + w_5^2 + w_6^2 + w_7^2 + w_8^2 + w_9^2 + w_{10}^2 + w_{11}^2 + w_{12}^2 + 4d^2 = 3(4d^2 + w_2^2 + w_5^2 + w_8^2 + w_{11}^2)$$

and Suppose that $w_2 = w_1 + d, w_3 = w_1 + 2d, w_3 = w_1 + 2d, w_4 = w_1 + 3d, w_5 = w_1 + 4d, w_6 = w_1 + 5d, w_7 = w_1 + 6d, w_8 = w_1 + 7d, w_9 = w_1 + 8d, w_{10} = w_1 + 9d, w_{11} = w_1 + 10d, w_{12} = w_1 + 11d$. The, left hand side expressed as

$$w_1^2 + (w_1 + d)^2 + (w_1 + 2d)^2 + (w_1 + 3d)^2 + (w_1 + 4d)^2 + (w_1 + 5d)^2 + (w_1 + 6d)^2 + (w_1 + 7d)^2 + (w_1 + 8d)^2 + (w_1 + 10d)^2 + (w_1 + 11d)^2 + 4d^2.$$

simplifies to

$$12w_1^2 + 132w_1d + 510d^2 = 3(4w_1^2 + 44w_1d + 170d^2) \cdots (2.4).$$

Splitting equation (2.4) into thrice sums of squares, we obtain,

$$\begin{aligned} &3(4d^2 + (w_1^2 + 2w_1d + d^2) + (w_1^2 + 8w_1d + 16d^2) + (w_1^2 + 14w_1d + 49d^2) + (w_1^2 + 18w_1d + 81d^2) + (w_1^2 + 20w_1d + 100d^2) + (w_1^2 + 22w_1d + 121d^2)) \\ &= 3(4d^2 + (w_1 + d)^2 + (w_1 + 4d)^2 + (w_1 + 7d)^2 + (w_1 + 10d)^2) \\ &= 3(4d^2 + w_2^2 + w_5^2 + w_8^2 + w_{11}^2). \end{aligned}$$

This complete the proof. □

3 Conclusion

In summary, the solution of the diophantine equation $\sum_{r=1}^n w_r^2 + \frac{n}{3}d^2 = 3(\frac{nd^2}{3} + \sum_{r=1}^{\frac{n}{3}} w_{3r-1}^2)$ under the specified conditions of a common difference d between consecutive terms $w_n, w_{n-1}, \dots, w_2, w_1$ where $w_n - w_{n-1} = w_{n-1} - w_{n-2} = \dots = w_2 - w_1 = d$ has been achieved for some cases. This solution provides valuable insights into the relation among the sequence terms, enhancing our understanding of the inherent patterns and structures within the equation. For future investigations, it is recommended to explore extensions of this diophantine equation by proving conjecture (1).

Disclaimer (Artificial Intelligence)

Author(s) hereby declare that NO generative AI technologies such as Large Language Models (ChatGPT, COPILOT, etc) and text-to-image generators have been used during writing or editing of manuscripts.

Acknowledgements

The author would like to thank the anonymous reviewers for carefully reading the article and for their helpful comments.

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Amir F, Pooya M, Rahim F. A Simple Method to Solve Quartic Equations. Australian Journal of Basic and Applied Sciences. 2012 6(6):331-336. ISSN ,1991-8178.
- [2] Bombieri E, Bourgain J. A problem on sums of two squares. Internatinal Mathematics Research. 2015;(11):3343-3407.
- [3] Cavallo A. Galois groups of symmetric sextic trinomials. 2019;arXiv:1902.00965v1 [math.GR]. Available: <https://arxiv.org/abs/1902.00965>.
- [4] Kimtai B, Lao H. On generalized sum of six, seven and nine cube. Science Mundi. 2023;3(1):135-142. ISSN:2788-5844
Available: <http://sciencemundi.net>
DOI: <https://doi.org/10.51867/scimundi.3.1.14>
- [5] Mochimaru Y. Solution of sextic equations. International Journal of Pure and Applied Mathematics. 2005;23(4):575-583.
Available: <https://ijpam.eu/contents/2005-23-4/9/9>.
- [6] Najman F. On the diophantine equation $x^4 \pm y^4 = iz^2$ in Gaussian Integers. Amer. Math. Monthly. 2010;117(7):637-641. 1.
- [7] David A. A partition-theoretic proof of Fermat's two squares theorem. Discrete Mathematics. 2016;339:4:1410-141.
DOI:10.1016/j.disc.2015.12.002.
- [8] Giorgos P Kouropoulos. A combined methodology for approximate estimation of the roots of the general sextic polynomial equation. Research Square; 2021.
DOI: <https://doi.org/10.21203/rs.3.rs-882192/v2>.

- [9] Lao H. Some Formulae For Integer Sums of Two Squares. Journal of Advances in Mathematics and Computer Science. 2022;37(4):53-57, Article no.JAMCS.87824,ISSN: 2456-9968. DOI: 10.9734/JAMCS/2022/v37i430448.
- [10] Lao H. Radical Solution of Some Higher Degree Equation Via Radicals. Journal of Advances in Mathematics and Computer Science. 2024;39(3):20-28. Article no.JAMCS.113540. ISSN: 2456-9968. DOI: 10.9734/JAMCS/2024/v39i31872
- [11] Lao H, Zachary K, Kinyanjui J. Some generalized formula for sums of cube. Journal of Advances in Mathematics and Computer Science. 2023;37(4):53-57, Article no.JAMCS.87824,ISSN: 2456-9968. DOI: 10.9734/JAMCS/2023/v38i81789.
- [12] Lao H, Maurice O, Michael O. On The Sum of Three Square Formula, Science Mundi. 2023;3(1):111-120. ISSN:2788-5844 Available:<http://sciencemundi.net>. DOI: <https://doi.org/10.51867/scimundi.3.1.11>
- [13] Najman F. Torsion of elliptic curves over quadratic cyclotomic fields. Math. J. Okayama Univ. 2011;53:75-82.
- [14] Par Y. Waring-Golbach problem. Two squares and Higher Powers. Journal of Number Theory. 2016,791-810.
- [15] Ruffini P. General Theory of Equations, in which the algebraic solution of general equations of degree higher than the fourth [General Theory of equations, in which the algebraic solution of general equations of degree higher than four is proven impossible]. Book on Demand Ltd.; 1799. ISBN: 978-5519056762
- [16] Tignol JP. Galois' Theory of Algebraic Equations. World Scientific, Louvain; 2001. Belgium. DOI: 10.1142/4628.

© Copyright (2024): Author(s). The licensee is the journal publisher. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<https://www.sdiarticle5.com/review-history/118505>